Cinema Problem
Final challenge: 65 children = £6.50
                          27 pensioners = £13.50



  8 adults = £80.00



100 people = £100

	Adults
	Pensioners
	Children
	Takings
	

	10
	0
	0
	£100
	Not enough people 

	9
	20
	0
	£100
	Not enough people

	9
	0
	91
	£99.10
	Not enough money

	8
	40
	0
	£100
	Not enough people

	8
	0
	92
	£89.20
	Not enough money

	8
	20
	72
	£97.20
	Not enough money

	8
	25
	67
	99.20
	Not enough money

	8
	27
	65
	£100
	This is the only solution


If there are 8 adults, there are 92 pensioners and children.

If there are 8 adults, the tickets are £80. So the pensioners and children need to pay £20.

P + C = 92

0.5P + 0.1C = 20

If we multiply the second equation by 2,

P + 0.2C = 40

If you subtract the last from the first equation, you get

0.8C = 52

C=65 

